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Area Applications

Learning Goals

- find areas of composite figures
- look at a practical application of area calculations

Area of Composite Figures

Composite figure - a shape that is made up of two or more
basic shapes

Finding the Area of Composite Figures
1. Break shape down into smaller shapes.
2. Calculate area of each shape.

3. Add the areas. May have to subtract areas that are missing.
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Examples: Find the area
20 cm

/ @ | @
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2. Determine the shaded

4(15) = 4o

6(15) I‘J
</

area to 1 decimal place.

4 15em
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On the Boards...

3.4m

3. Paint costs $34/can. One can covers 22 m°.
How much does the green paint costs? ——> (AJ le(
How much does the red paint cost? — dootr

N o= (.5)1)=.5
A, =(2.3)1)=2.3

A= 34(9.5)
05m = 32.3
Arte) =32.3-2.3715
=285
4 of cans = 22 .S
22
:/'3
2 conS
price 2(34) -¢8
4 X 68{/./3)
= 76.3% it Y76 4
cash *76.85
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4. Describe the figures that make up each composite figure.
Determine the area of each composite figure. All curves are semicircles.

=210

/ =25,/Z—6,ZX
:/yXLf ‘P'{'?_ /K}/’;-/—Q/ZBOO'FZ/O
=5/0 in®

T
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5.

Assessment Focus The running track
in this diagram consists of two parallel
sections with semicircular sections at
each end. Determine the area of

the track.

ﬁMNde

= (0352 3¢

-t

'qom‘S('olc, = 85_(‘)‘6.4/){2) + 77-(‘/6,‘1'/)2

= 14652 .9/
A nck = 14652.91 ~ 10352.36

= 430095 13,5 56 m*

:35(3440Q}+F@A901

6. The design for a backyard deck is shown. It will
be built using plastic lumber made from
recycled materials.

) 23m —-\
a) Determine the area of the deck.
b) A circular hot tub with diameter 2 m is to
be installed in the octagonal portion of the 28m

deck. How much wood needs to be cut out to

make room for the hot tub?
¢) The backyard is a rectangle measuring 65 feet by 45 feet.
What is the area of the backyard not covered by the deck?

9@:'%:'Q7
=R0.08

A =44+ J+2
=/3.93

QTb‘H«/ = Jo. 03+13.93
= 3. ol
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If you have NOT
finished question 6,
try it for homeworR,




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

